Wieruszéw

zasuwa DN100

e hydrantu DN80 \

\

\

—/

[/

S\

) m|pod dnem rowu

A\

o
< S
c
Pl o2l a |
Nlo 0 ™
= < c
£l@ S g
HE = E e
=3 = 5 |2
3 s z

Al 2
- » S
@ = 8 S
oz ° <
s |< 3 S
al>S o z

S w

o5
= !
2 o [a N =]
sl . g £ 2
HEE 222 |2 x
A 3|z|8 (2 |£°
o z o o < a 2] [=}

250,00
RZEDNE TERENU 5 e 2 8 8 2 E 2 g 3 3 g g
& [ = ) E & &) hs ) S o o) = 8 S
RZEDNA 0S| RUROCIAGU  [3] 5 3 g K 5 5 S e g =
GLEBOKOSC INERE | R RE
- 12%o — 17%o - 0% — oy s 200 S
SPADEK GREDNICA SORRTEBTTOR00 SURATS DTTOR[00 ORI BTIOR00 - RATS R RE B R,‘JR;\%W“*
- ] 1 ] ] 33 27 T 1 79 ]
ODLEGLOSC Jd s :I 14 j b 116 N # ;i ;i 22 = a4 32 j 8 o N

Obiekt

SIEC WODOCIAGOWA

DLA WSI LUTOMIA

Nazwa rysunku

PROFILE

SIECI
WODOCIAGOWEJ

SWIDNICA

TEXEL SP.J.




